





About



At GENESIS GLOBAL AI, we are transforming the future of wealth creation through the power of cutting-edge technology and community collaboration.

Our platform blends artificial intelligence innovation with dynamic business models to unlock lifechanging opportunities for individuals around the globe.

With GENESIS GLOBAL AI, you're not just part of a business — you're part of a movement towards smarter, more sustainable success.



Our Mission



At GENESIS GLOBAL AI, our mission is to empower individuals with a simple yet powerful path to financial growth through a performance-driven earning ecosystem.

We are dedicated to providing a platform that is transparent, reliable, and inclusive — giving everyone the opportunity to earn recurring income by sharing value, expanding their network, and developing leadership. Through smart AI-powered systems, advanced digital tools, and ongoing support, we transform effort into earnings and ambition into achievement — all while building a global community that grows stronger every day.







Our Vision



At GENESIS GLOBAL AI, our vision is to become a global leader in ethical, innovative income-generation platforms that uplift individuals and communities alike.

We strive to create a future where **financial freedom** is accessible to all — regardless of background or starting point.

By nurturing a supportive environment grounded in **integrity**, **collaboration**, **and opportunity**, we envision a world where people can unlock their true potential, elevate their lifestyle, and achieve **sustainable success**—**together**.



Types Of Income

Direct Income —

Poi

Roi to Roi

Ranks & Rewards

Bonanza Income —





Level Opening Criteria



\$500 Direct 3 Level 6



\$1000 Direct 5 Level 10



\$2500 Direct 10 Level 20



\$5000 Direct **15 Level 30**





ROI 8%

- 2X ON INVESTMENT DOUBLE THE RETURN ON MONEY SPENT
- 3X ON WORKING- TRIPLE THE RESULTS FROM OUR WORK







ROI to ROI

Level	Bonus
Level 1	15%
Level 2	10%
Level 3	5%
Level 4	4%
Level 5	3%
Level 6-10	2%
Level 11-20	1%
Level 21-25	0.5%
Level 26-27	1%
Level 28	2%
Level 29	3%
Level 30	5%



Ranks & Rewards

Rank	Business	Monthly Reward	Duration (Months)	Total Reward
Star	\$10,000	\$40	25	\$1,000
Silver	\$20,000	\$100	25	\$2,500
Gold	\$40,000	\$150	25	\$3,750
Ruby	\$90,000	\$200	25	\$5,000
Sapphire	\$250,000	\$350	25	\$8,750
Diamond	\$500,000	\$500	25	\$12,500
Blue Diamond	\$1,000,000	\$800	25	\$20,000
Black Diamond	\$2,500,000	\$2,000	25	\$50,000
Royal Diamond	\$5,000,000	\$3,200	25	\$80,000





Genesis Global Ai

- MINIMUM WITHDRAWAL 10\$
- WITHDRAWAL EVERY MONTH MONDAY TO FRIDAY
- ADMIN CHARGES 5%
- WITHDRAWAL TIMING 24 WORKING HOURS TO PROCEED NOTED



All Incomes Will Be Generated In USDT Only 5% Deduction Will Be Applied

